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Topic 1: Fractional & Negative Exponents

Simplify using only positive exponents
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Topic 2: Domain

Find the domain of the following functions:
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Topic 3: Solving inequalities (absolute value)

Write the following absolute value expressions as piecewise expressions
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Topic 4: Solving inequalities (quadratic)

Write the following absolute value expressions as piecewise expressions
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Solve the following by factoring and making appropriate sign charts.
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Topic 5: Special factorization

Factor completely
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Topic 6: Function transformation

If f'(x) = x* -1, describe in words what the following would do to the graph of f (x) ;
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Topic 7: Factor theorem (p over g method/synthetic division)

Use the p over ¢ method and synthetic division to factor the polynomial P(x). Then solve P(x)= 0.
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Topic 9: Solving quadratic equations and quadratic formula

Solve each equation
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Topic 10: Asymptotes
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For each function, find the equations of both the vertical asymptote(s) and horizontal asymptotes (if they exist)
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Topic 11: Complex fractions
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Topic 12: Composition of functions

If f(x) =x°, g(x) =2x-1, and h(x) =2", find the following
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Solve each equation for x
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Topic 13; Solving Rational (fractional) equations

2. x+£=5 3 2T 2 |
x 2 2 |
7-4_6-:;5—7( 3= é‘ |
2 gcx4b=0O 9 hxL—3%K"
+2- c
-
Qafﬂ ("’37’ 2 -
—— B
Cﬁfdc~ C%Pdco
5,@_ﬂ=3 6. 2 . 1 16
x x-5 x x+51€5x—25d\o
< (x-5) |60 _6° MulHoly bota sides O]
*  x-< L£-1S Y.
Z C;cfs) () 2(s) *@*56’
g/o o0—gp- 1A 337( ol
-290 = 2X ;-:—}—“
g oo 3 _ x~2 2x+3 _ 10 2x- 3
'2x-6 x-6x+9 3x-9 “wedl w1 mel
e B ok Mu LR ply b X1
2(%-3)  (x3V 3(3)  (ax3)(xx1)= |o;@x ?E&;)
Malbply by 6 (x-3) bt 2x*5%¢3-2x 5 X
des - o _
‘;ﬁ (eﬂ%') —\& = ZLC*”Q(“G) \°" \ |
2% gx-\& = 9'7(7’,\0% x| - |
2. ) < 1) L
L4 X— 30
Maneoul
; = "
(xx 6) C'K—S) e E o
s )(‘:'.‘"G
Xx=5 ©O 60 i
Ld%an .

aneok?




Topic 14: Solving Rational (fractional) equations |

Solve the following problems.

If point P is on the terminal side of 8, find all 6 trig functions of 6. Draw a picture.
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Topic 15: Solving Trigonometric equations

Solve each equation on the interval [0,2n)
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